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Introduction

This was the sixth series for Pearson Edexcel GCSE (9-1) Geography although two of these
involved very small numbers of candidates. This Examiner's report is intended to provide an
insight into performance on Paper 1: The Physical Environment component – in particular,
analysing the majority of questions in terms of what went well and where common mistakes
and under-performance were evident. Exemplar responses from 'real' scripts have been used
to demonstrate good practice and highlight common pitfalls encountered by candidates.

The structure of the paper remains the same and is outlined below; please note that this
(and future) question papers are based upon Issue 3 of the Specification.

This paper consists of three 30-mark sections. Of the 94 marks, up to 4 marks are awarded
for spelling, punctuation, grammar and use of specialist terminology. The exam includes
multiple-choice questions, short open, open response, calculations and 8-mark extended
writing questions. The exam command words which are used in this paper are defined on
page 43 of the Specification. Each of the questions is mapped to one or more of the
Assessment Objectives (AOs).

In Section A (The Changing Landscapes of the UK), candidates are required to answer all the
items in Question 1. They are also required to have studied two optional sub-topics from a
choice of Coastal Landscapes and Processes, River Landscapes and Processes and Glacial
Upland Landscapes and Processes. In addition, candidates are required to answer two
questions from Questions 2, 3 and 4.

In Section B (Weather Hazards and Climate Change), candidates are required to answer all
the questions.

Section C (Ecosystems, Biodiversity and Management), has a mark tariff of 34, including 4
marks for spelling, punctuation, grammar and use of specialist terminology. In this section,
candidates are required to answer all the questions.

In general, the assessment of application and interpretation (AO3) and the addressing of the
command words 'assess' and 'evaluate' once again appear to have proven challenging for a
significant proportion of candidates. In relation to the 8-mark 'examine' questions in Section
A, it was clear that candidates are becoming better at using evidence from the resources in
their responses and therefore gaining more of the AO4 marks.

I hope that you find reading this document useful and that it helps you to improve the
performance of your candidates in future examination series.
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Question 1 (a)(ii)

Most candidates were able to identify a characteristic of an igneous rock. However, some
candidates stated characteristics of metamorphic rocks (eg formed by pressure) or
sedimentary rocks (eg in layers) and were not awarded a mark.

This response was awarded one mark.

The candidate has given a characteristic of igneous rock (1).

The command word 'state' does not require a lengthy response. Often
one or two words or a phrase are sufficient.
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Question 1 (b)(i)

This question involved assessing the candidates' ability to use 4 figure grid references and
interpreting the map key. While many candidates were awarded the mark, this is a skill which
needs to be practised.

This response was awarded one mark as the candidate has identified
the type of woodland in the grid square.

This response was not awarded a mark. The woodland in the grid
square included both coniferous and non-coniferous trees and this
type of land use is labelled as 'mixed wood' on the OS map key.
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Question 1 (b)(ii)

This question involved assessing the candidates' ability to use 6 figure grid references. While
many candidates were awarded the mark, this is a skill which needs to be practised.

This response has the correct answer and was awarded 1 mark. It
should be noted that a minority of candidates gave 'Greys Court' as
their answer. This was incorrect as, although it is shown on the map, it
is not located at this grid reference.
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Question 1 (c)

This question proved challenging for some candidates. While many were able to gain one
mark by referring to characteristics of specific rock types (eg igneous rocks are
hard/resistant), relatively few were able to gain the second mark by linking this to its impact
on the UK landscape (eg leading to upland areas). The term 'geology' is in the Specification
and candidates need to be familiar with all the key terms within this document.

This response was awarded one mark.

The candidate has made a basic point that igneous rocks lead to
mountains (1), but there is no development of the reason for this (eg in
terms of the hardness of the rock). They have made a second
statement about sedimentary rocks leading to 'flat land', but this is
essentially a 'mirror' of the first point. To get the second mark, they
needed to develop either of these statements.
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This response was awarded two marks.

The candidate has identified that igneous/ metamorphic rocks are
more resistant (1) and this leads to them forming upland landscapes
(1).

Underline key words in the question (eg geology).
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Question 2 (a)

This question was answered well with the majority of candidates naming a correct mass
movement process. A small minority of candidates named an example of a process of
erosion or transportation which was incorrect.

This response was not awarded a mark.

The candidate has named a transportation process rather than a mass
movement process.

This response was awarded one mark.

An example of a mass movement process was given (1). It should be
noted that while only a relatively small number of mass movement
processes are listed in the Specification, a mark would have been
awarded for other processes not listed as long as they were correct.
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Question 2 (c)

This 'explain' question had 2 marks available. Candidates were required to identify a reason
why rates of coastal erosion may change over time (eg storms are more powerful in winter)
and then develop their answers. This could be by linking it to how it would affect the rate of
erosion (eg storms are more powerful in winter (1) so the rate of erosion is reduced (1)) or by
developing their initial point (eg storms are more powerful in winter (1) which provides them
with more energy (1)).

This response was awarded one mark.

The candidate has identified that coastal defences are being built (1),
but has not then linked this to the decrease in the rate of erosion or
developed the initial point further.

This response was awarded two marks.

The candidate has identified that new coastal defences may be built (1)
which will reduce erosion (1).
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Question 2 (d)

The command word in this 8-mark question is 'examine' which requires candidates to break
something down into individual components/ processes, say how they individually contribute
to the question's theme and how the components and processes interrelate.

The level descriptors are the same for all the 'examine' questions (Q02(d), Q03(d) and Q04(d))
within this paper and also across all the papers in both GCSE Geography specifications. In the
case of these questions, the AOs which are being examined are AO3 (4 marks) and AO4 (4
marks). To secure the AO4 marks, candidates are required to use geographical skills to
extract information from the figures in the resource booklet which will help them answer the
question.

In the case of this particular question, relevant content relating to the AO4 marks could have
included details regarding the length/width of the spit as well as its orientation; the direction
of the prevailing wind; the location of features on the spit (using grid references) as well as
description of features shown on the photograph. It was pleasing to see many candidates
making use of evidence from the map and photo, but this is an area which still needs to be
developed. Answers which discuss generally the processes involved in spit formation, but
which did not make reference to evidence from the figures will not be awarded any of the
AO4 marks. The key to securing the AO4 marks is therefore to make sure that evidence is
included from the resources which are in front of the candidates. They need to write about
what they can see and infer from the resource, rather than simply writing about what they
have learnt in class. It was evident that many centres are taking this advice on board, but
there are still many responses where the use of evidence is limited.

In relation to the AO3 marks, candidates were required to explain the processes involved in
the formation of the spit shown in the resources. This part was done well by many
candidates with a good understanding shown of the role of longshore drift. Some candidates
were able to link this to the direction of the prevailing wind shown on the map and were able
to develop their process understanding still further through the appreciation of the role of
swash and backwash. There were some very good answers where candidates also identified
the role of the river in stopping the continued extension of the spit (including providing
information about the direction of river flow) and the role of the groynes which they had
identified on the map in maintaining the spit.
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This response was awarded Level 2 – 4 marks.

The candidate has included a reasonable range of evidence from the
resources (prevailing wind direction, groynes and saltmarsh). They
have attempted to integrate the evidence into their answer, but their
understanding of the sequence and processes involved in spit
formation is limited. For example, although they have mentioned
longshore drift, they have not explained how it operates.

Make sure that you use a range of evidence from the figures in both
the 8-mark questions which you answer.
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This response was awarded Level 3 – 8 marks.

The candidate has included a range of evidence from the resource
(prevailing wind direction, change in the shape of the coastline,
reference to the river current, location of the end of the spit). They
have used this information well to support their explanation of the
processes involved in the formation of the spit. They also have a clear
knowledge and understanding of the sequence and processes involved
in spit formation.
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Question 3 (a)

This question was answered well with the majority of candidates naming a correct erosion
process. A small minority of candidates named an example of a process of mass movement
or transportation which was incorrect.

This response was awarded one mark.

The candidate has named a correct erosion process. Note that
'corrosion' would also be accepted instead of 'solution'.
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Question 3 (c)

This 'explain' question has 2 marks available. Candidates were required to identify a reason
why there is a lag time between peak rainfall and peak discharge and then develop their
answers. Many candidates were able to gain the initial mark by stating that this is because it
takes time for the water to reach the river. The development mark was in terms of explaining
why this was the case (eg the water falls on the ground and infiltrates into the soil).

This response was awarded two marks.

The candidate has identified that it takes time for the water to reach
the river (1) and has developed this through their explanation that the
soil soaks up the water (1).
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This response was awarded one mark.

The candidate has identified that it takes time for the rain to reach the
river (1), but has not developed this point further in terms of a reason
for this.
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Question 3 (d)

Q03(d) focused on the advantages and disadvantages of the reservoir and dam shown in the
two figures. The candidates who answered this question more effectively were able to obtain
a range of evidence from the OS map and photograph and were able to use this to support
their explanation. Some candidates were able to gain a limited number of AO4 marks by
mainly focusing on the information in the text boxes, although their points were often not
well developed. The candidates who gained 3-4 of the AO4 marks were likely to have used
evidence from both resources with map evidence being used (eg the length of the
dam/reservoir; using grid references to identify the location of features such as the hotel).

As mentioned above, one of the key discriminators between answers was the range of
evidence extracted from the resources. However, it is also important that this evidence is
used to support the answer, rather than simply being a list of features. Where these
connections were made, candidates could put together a well-argued and supported answer
which helped them access the higher levels. In terms of the AO3 marks, the candidates were
required to explain the advantages and disadvantages of the reservoir and dam. This was
done best when the candidates divided their answers up into paragraphs focusing separately
on the advantages and disadvantages.
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This response was awarded Level 2 – 4 marks.

The candidate has included a limited range of evidence from the
resources (eg identified a nature reserve, some reference to
information from the text boxes). They have also identified a limited
range of advantages and disadvantages with some explanation. To
improve their mark within the level, they could have included some
additional evidence such as locating the nature reserve using a grid
reference.
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This response was awarded Level 3 – 7 marks.

The candidate has extracted some evidence from the resources (eg
information from the text boxes relating to the flooding of Mardale
Green/ the expansion of the natural lake; the use of grid references to
locate some features). They have used this evidence to support their
explanation of a variety of advantages and disadvantages of these
features. The response has not been awarded the top mark because
the range of evidence extracted from the resource was not wide
enough. They could, for example, have also included details on the
length/width of the reservoir.

Make sure that you use a range of evidence from the figures in both
the 8-mark questions which you answer.
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Question 4 (a)

This question was answered well with the majority of candidates naming a correct
weathering process. A small minority of candidates named an example of a process of
erosion or transportation which was incorrect. There were also some references to 'storms'
and 'heatwaves' which suggest that the candidates were confusing 'weathering' and
'weather'.

This response was not awarded a mark.

It is an example of where the candidate has not understood the term
'weathering'.

This response was awarded one mark.

The candidate has named 'mechanical weathering' which is correct. If
they had simply written 'mechanical', this would also have been
awarded a mark as 'weathering' was referred to in the question. As
with mass movement processes, while there are only a relatively small
number of weathering processes listed in the Specification, a mark
would have been awarded for other processes not listed as long as
they were correct (eg carbonation).
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Question 4 (c)

This 'explain' question had 2 marks available. Candidates were required to explain how
arêtes are formed. While there were some very clear answers which gained two marks, a
significant minority of candidates did not appear to know what an arête is or how they are
formed. This landform is listed in the Specification and needs to be covered by centres.
Where marks were awarded, these were normally for candidates who had identified that
arêtes are 'knife like ridges' (1) which are formed by corries meeting back-to-back (1).

This response was awarded one mark.

The candidate has identified that arêtes are formed where two corries
are back-to-back (1). However, there is not any further development.

This response was awarded two marks.

The candidate has identified that arêtes are formed where two corries
meet back-to-back (1) and has then developed their answer further
through the link to the steep back wall forming a ridge (1).
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Question 4 (d)

In Q04(d), candidates could have included evidence extracted from the map (eg use grid
references to locate features such as the ski resort and the car parks) and from the
photograph (eg describing the volume of traffic in the car park). While many candidates were
able to include details from the text boxes in their answers, they often did not really link the
evidence which they copied to their discussion. The use of evidence from the photograph
was also more common than using map evidence. Many candidates therefore provided quite
generalised answers, which could apply to any tourist area rather than focusing on the
evidence which was shown on the resources. In cases where no evidence was provided, the
response was limited to Level 1 – 2 marks even if the explanation was very good.

In relation to the AO3 marks, the candidates were required to explain the advantages and
disadvantages of the ski resort shown in the figures. Many candidates were able to identify
and explain at least some of these and were, therefore, able to access some of the AO3
marks. In order to reach Level 2, they required a reasonable range of evidence which was
used to support their explanation. The top-level answers included a good range of evidence,
normally from both resources, which was used effectively to support their explanation.
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This response was awarded Level 2 – 5 marks.

The candidate has largely used evidence from the text boxes (eg the
number of visitors) although there is also reference to the amount of
traffic. They have also identified a range of advantages and
disadvantages, although these are not well developed. In order to
increase their mark within the level, they could have used evidence
from the map (eg locating the ski resort using grid references).
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This response was awarded Level 3 – 8 marks.

The candidate has included a range of evidence from the resources (eg
grid references locating features, identifying the main road, using
evidence from the text boxes). They have also provided a clear
explanation of the advantages and disadvantages of the development
of the ski resort. The evidence from the resources is integrated clearly
into their explanation with logical connections being made.

Make sure that you use a range of evidence from the figures in both
the 8-mark questions which you answer.
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Question 5 (a)

This question required candidates to define the term 'drought'. While most candidates were
able to identify the role of a lack of rainfall, the mark was only awarded if this was qualified in
relation to a period of time/ comparison with normal. Thus, a candidate who stated that
'drought is due to very low rainfall' was not awarded the mark, but a mark would have been
awarded if they had stated that 'drought is due to very low rainfall over a period of time'.

This response was not awarded a mark.

Although the candidate has an idea of low rainfall, they have not
qualified this through referring to a period of time. This could simply
refer to a period of dry weather over a few days.

Ensure that you can define all the key geographical terms in the
Specification.
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This response was awarded one mark.

The candidate has identified that the low rainfall is over a (prolonged)
period (1).
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Question 5 (b)(ii)

In this question, candidates were required to calculate the range of winter rainfall shown on
the figure. This question required mathematical workings to be shown for 1 mark and the
other mark was given for the correct answer. In the case of candidates who used the correct
method to calculate the range (highest-lowest figure) but had misread the graph, 1 mark was
given for the correct workings as long as the figures from the graph included the maximum
figure (400mm) and the lower figure was between 150mm and 200mm. In this case, the
second mark for the correct answer was not given.

This response was awarded one mark.

Although the answer given was incorrect, a mark was awarded for the
working (1) as the candidate had shown that they understood how to
work out the range (and the figures they used were within the
accepted range).
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This response was awarded two marks.

The correct answer (1) and workings (1) are shown.
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Question 5 (c)

This 3-mark 'explain' question required the candidates to explain one reason why some
locations are more vulnerable to drought than others. Most candidates who were awarded
marks approached this from the angle of the meteorological causes of drought linking it to
low rainfall. In order to be awarded the development marks, their chain of explanation
needed to explain the reasons for low rainfall (eg high pressure (1) leads to sinking air (1)
which means there is little rainfall (1)). There were some very good answers which included
these linked points, but some candidates were unable to get beyond stating that rainfall is
low. A relatively small number of responses focused on the vulnerability of areas to drought
due to low levels of development, which was acceptable, while others looked at human
causes of drought (eg construction of dams).

This response was awarded one mark.

This response was typical of those being awarded one mark with the
candidate identifying a lack of rainfall as a cause – but not going
beyond this in terms of their explanation.
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This response was awarded three marks.

The candidate has identified that drought is found in areas of high
pressure (1) which is linked to sinking air (1) and therefore to less
precipitation (1).
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Question 6 (a)

This question involved the candidates stating one cause of natural climate change. This was
answered correctly by many candidates.

This response was not awarded a mark.

The candidate has identified an effect of climate change rather than a
cause.

This response was awarded one mark.

The candidate has correctly named sunspots as a cause of natural
climate change (1). They were not required to develop this in terms of
variation.
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Question 6 (b)

This 2-mark 'explain' question required the candidates to explain one way that tree rings can
provide evidence of natural climate change. While many candidates were able to show that
they understood the link between the thickness of the tree rings and the past climate, only a
minority of candidates were awarded the second development mark for linking this to the
growth of the trees. An answer which stated that 'warmer temperatures led to thicker tree
rings' was awarded one mark while two marks would have been awarded for a developed
answer – 'warmer temperatures led to thicker tree rings (1) due to the growth of the trees (1).

This response was awarded one mark.

The candidate has identified the link between warmer temperatures
and the tree rings being 'larger' (1), but has not made the further
development point linking this to the growth of the trees.
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This response was awarded two marks.

The candidate has made the link between warmer temperatures and
thicker rings (1) and has made the development point that this was
due to more rapid growth (1).
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Question 6 (c)

This 3-mark 'explain' question required the candidates to identify one reason for the changes
in the global temperatures shown on the resource. An AO3 mark was awarded for using
evidence from the resource as part of their answer – this was focusing on the change in the
temperature shown on the graph. They could have been awarded this mark for identifying
the overall increase, or for using data to show the change. Candidates were then required to
develop their answer to explain why the global temperature has increased over the time
period (eg linking it to the burning of fossil fuels and the release of greenhouse gases). Some
candidates made reference to natural causes of climate change (eg volcanic eruptions), but
these were not awarded a mark as they did not explain the changes across the whole time
period.

This response was awarded two marks.

The candidate has identified the overall increase in temperature (1)
and has made a link to the burning of fossil fuels (1).
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This response was awarded three marks.

The candidate has identified the increase in temperature (1) and has
linked this to the burning of fossil fuels (1) leading to the greenhouse
effect (1).

42GCSE Geography A 1GA0 01



Question 6 (d)

Q06(d) required candidates to calculate the mean number of deaths per tropical cyclone
using the data set provided. They were therefore required to add up the total of deaths and
divide by the number of tropical cyclones. They were required to show their workings with
one mark being awarded for the correct workings and one mark for the final answer. If they
simply wrote the answer without showing any workings, they were awarded one mark.
Candidates should be encouraged by centres to write their answers on the answer line
provided. However, if it is not written in this space but it is clear that the correct answer has
been given, this will be credited.

This answer was awarded one mark.

The candidate has shown the correct working (1), but has not given the
correct answer.

Remember to bring a calculator into the exam.
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This response was awarded two marks.

The correct answer is given (1) and workings shown (1).

It makes it much clearer if your final answer is written on the answer
line provided.
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Question 6 (e)

This 4-mark question required candidates to explain one reason why some tropical storms
lead to more deaths than others. They were required to identify an initial reason (eg some
storms are more powerful than others) and then develop their answer through explanation
with three further linked points being required for full marks. Some candidates identified
several different reasons, but they were only awarded marks for the one with the most linked
development points.

This response was awarded two marks.

The candidate has identified that some storms are more powerful than
others (1) which causes more damage to buildings (1).
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This response was awarded four marks.

The candidate has identified that some storms are more intense than
others (1) which leads to more flooding (1) and then to diseases such
as cholera/ typhoid (1) which will infect people and kill them if left
untreated (1).

Use connective terms such as 'therefore' and 'this means that' to help
link points.
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Question 6 (f)(ii)

This 2-mark question required candidates to identify a reason for the link between ocean
surface temperatures and the location of tropical storms. The command word was 'suggest'
and candidates were directed to use evidence from the resource in the answer in order to be
awarded an AO3 mark. For example, they could have identified the range of latitudes where
the track of tropical cyclones were shown on the map or identified the ocean temperature
ranges in these areas. The second (AO2) mark was for a linked development point which
might, for example, be related to the link between the ocean surface temperature as a
source of energy for the storm.

This response was awarded one mark.

The candidate has identified an area, using the ocean temperatures
from the map, where tropical cyclones are shown (1), but has not
developed this point. Although there is a reference to 'warmer
temperatures', this was not sufficient for credit to be given.
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This response was awarded two marks.

The candidate has identified a range of ocean surface temperatures
shown on the map where cyclone tracks were evident (1) and has
made a further linked point to the need for tropical cyclones to be
provided with heat energy to be able to form (1).
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Question 6 (g)

The command word of this 8-mark question is 'evaluate'. This requires candidates to use
evidence to determine the relative significance of something, giving consideration to all
factors and identifying which are the most important. The AOs being examined are AO2 (4
marks) and AO3 (4 marks).

To secure the AO2 marks on this specific question, candidates were required to identify and
explain the different responses made to tropical cyclones in different categories of countries.
Most candidates structured their answers by focusing on one category of country first and
then moving onto the other category in a separate paragraph. The most successful
candidates were also able to distinguish within the categories between different groups of
people involved in the responses (eg individuals, organisations and local/national
governments). The range and depth of located knowledge was good in many cases. but it is
important to remember that there is a focus to the question and the evidence being
presented needs to support the argument being developed.

In relation to the AO3 marks, the command word 'evaluate' required candidates to write a
balanced argument which addressed the question. They needed to make sure that their
answer developed in a logical fashion and was supported by the evidence presented. They
were also required to come to a definitive conclusion. In the context of this question, the
conclusion would involve making a judgement about which category of country has the most
effective responses.

Overall, many responses were well structured and a concluding judgement was made. A key
discriminator was whether there was a clear understanding shown about why the impact of
the responses varies between the different categories of country.
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This response was awarded Level 2 – 5 marks.

The candidate has contrasted the responses made to two different
tropical storms in contrasting locations. They have included a range of
located knowledge and have made some limited contrasts in terms of
the level of income/wealth. There is an overall judgement at the end.
To reach Level 3, the candidate could have focused more on the
reasons for the varying success of the responses.
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This response was awarded Level 3 – 7 marks.

The candidate has made clear contrasts between the responses in
developed and developing/ emerging countries. They have linked this
to the amount of wealth available in contrasting countries and the
impact this has on infrastructure. They have made judgements
through their answer with an overall conclusion at the end. To reach
the top of Level 3, they could have looked at the different responses
from the point of view of the different groups involved.

Make sure that you know what the differences are between the
command words 'assess' and evaluate'.
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Question 7 (a)(i)-(ii)

Q07(a)(i) required candidates to plot the precipitation figures for May and September on the
climate graph. It should be noted that the use of climate graphs is an integrated skill in this
part of the Specification. The bars needed to be accurately plotted, although they did not
need to be shaded in. Although some responses drawn freehand were awarded the marks,
this was much less likely than when they were drawn with a ruler. Some candidates
completed the bars in pen and then tried to change them which they found difficult. Centres
should be encouraged to get their candidates to plot such graphs with a sharp pencil.

Q07(a)(ii) required candidates to calculate the median precipitation using the data provided.
While the majority of candidates were able to complete this calculation successfully, a
significant minority were only awarded one mark as they did not show their working as
requested. Some candidates were also unsure about how to deal with the fact that there was
an even number of values and that the mean of the two middle numbers needed to be
calculated as well.
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This response was awarded two marks for 7(a)(i) and two marks for
7(a)(ii).

The bars for May and September were accurately plotted.

The median has been calculated correctly (1) and accurate working is
shown (1).

Candidates should be provided with the opportunity to practise all the
geographical and mathematical skills listed on p.32-33 of the
Specification (Issue 3).
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Question 7 (b)

Q07(b) was not answered well. It required candidates to explain one way that climate can
influence the distribution of large-scale ecosystems. Many candidates seemed unclear about
both the terms 'distribution' and 'large-scale ecosystems' and struggled to pull these two
parts of the question together. This is an area which is clearly listed in the Specification and
candidates are expected to know the distribution of the large-scale ecosystems listed in the
Specification – and to understand the role of climate and local factors in influencing it.

This response was awarded two marks.

The candidate has identified that tropical rainforests are found in areas
with warm/wet climates (1) which leads to rapid rates of
photosynthesis (1). However, the third mark was not awarded as they
have not made the link to where the tropical rainforests are distributed
(along the equator).
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This response was awarded three marks.

The candidate has identified that tropical rainforest is distributed along
the equator (1) and has then linked this to the climate being warm (1)
due to the high concentration of the sun's rays (1).
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Question 7 (d)(i)

In this question, candidates were required to calculate the percentage decrease in the
estimated forest cover between 1900 and 2000. The data to allow them to calculate this
change was included in the text in the resource. One mark was awarded for the correct
answer and the second mark was for the correct workings. The question required that
candidates gave their answer to one decimal point. If they did not do this, they could still be
awarded the mark for showing their workings but not the one for the actual answer.
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This response was awarded one mark.

The correct answer has been given (1), but the candidate has not
shown any workings.
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This response was awarded two marks.

The correct answer has been given (1) and workings shown (1).
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Question 7 (d)(ii)

Q07(d)(ii) required candidates to explain two economic reasons for deforestation in
Indonesia. The marks for this question were divided between two AO2 marks and two AO3
marks. The AO3 marks were reserved for the candidates being able to select economic
reasons from the resource. If the candidates identified reasons which were not economic (or
were not included in the resource), these were not credited. The AO2 marks were awarded
for further development through explanation making it clear why these were economic
reasons. For example, if a candidate has stated that 'there is rising demand for goods like
medicine and timber (1) which can be sold (1)', this would have been awarded two marks.
Simply stating that there is 'rising demand for medicine and timber' would have been
awarded one mark.

This response was awarded one mark.

The first reason is an economic one (1), but further development was
not given.

Although the second reason, population growth, is from the resource it
was not awarded a mark as this is a social rather than an economic
reason – and no further development was given to explain how it
might be considered an economic reason.
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This response was awarded four marks.

Both reasons are from the resource and both are clearly economic
with further linked development being given to show why they are
considered economic reasons.
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Question 7 (e)

Many candidates were able to gain the mark on this question by stating an example of a
service provided by deciduous woodland ecosystems. Some candidates, however, listed
goods (eg timber) rather than services and were not therefore awarded a mark.

This response was not awarded a mark.

The candidate has stated a good rather than a service.

This response was awarded one mark.

The candidate has given an example of a service (1). It is important to
note that if the candidate had not crossed out their original answer
and had left both answers, they would not have been awarded a mark
as their first response would have been the one that was marked and
this is incorrect. However, as it had been crossed out and the second
answer was given, this was the one which was marked.
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Question 7 (f)

Many candidates were able to gain both marks on this question. They were able to identify
an example of an adaptation and develop it further. It should be noted that some candidates
gave examples of animals which do not live in deciduous woodlands (eg chameleons) and
these answers were not awarded a mark.

This response was awarded one mark.

The candidate has identified that animals adapt by hibernating in
winter (1), but has not explained why (eg due to a shortage of food).
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This response was awarded two marks.

The candidate has identified that squirrels bury their food (1), so they
have food available when it gets colder (1).

Read the question carefully and try to leave time at the end of the
examination to check your answers.

66GCSE Geography A 1GA0 01



Question 7 (g)

Q07(g) required candidates to explain one approach to the sustainable management of
deciduous woodlands. The Specification requires that centres have taught this content within
the context of a named region and many answers included good located knowledge. The
initial mark was for giving the approach (replanting after trees have been felled) and the
further three marks were for linked development points. If a candidate gave two or more
approaches only, the one with the most development points was credited as the question
required candidates to explain one approach.

This response was awarded two marks.

The candidate has identified replanting trees as their approach (1) and
then made the linked point that this restores habitats (1).
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This response was awarded four marks.

The candidate has identified controlled felling as their approach (1)
and have further developed this through links to keeping a variety of
trees alive (1) preserving newer trees that have just been planted (1)
and allowing sunlight to reach them (1). All of these development
points are linked to the approach identified at the start of the
response.

It is important that you focus on both the command word and the
number of marks available.
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Question 7 (h)

The last question on the paper continues to prove challenging for some candidates. It is the
case that the papers are constructed in a way that ramps up the level of challenge through
the paper. However, it is important that all candidates at least attempt the final question – in
part because there are 4 SPaG marks available on this question. Even if the candidates had
only scored Level 1 – 1 mark for the content, they are likely to gain some of the SPaG marks
and should be encouraged by centres to attempt it.

For the AO2 marks, the candidates were required to describe and explain the reasons for the
variation in biodiversity between tropical rainforests and deciduous woodlands. Most
candidates focused solely or largely on the role of climate. It was possible to achieve four
AO2 marks for an answer focusing on a single reason, if the depth of explanation was
sufficient. However, this became more limiting in relation to the AO3 elements. Other
reasons which candidates focused on included the role of time (with tropical rainforest
ecosystems being much less disturbed over longer periods of time) and human activity.

In relation to the AO3 elements, the command word for this question was 'assess'. Unlike a
question with the command word 'evaluate', this question stem does not require an overall
concluding paragraph with a judgement about which reason is more or less important
overall. Instead, candidates are required to make judgements about the relative importance
of the reasons through their answer. A good approach to this is to add judgement comments
at the end of each paragraph. The candidates can also finish off with an overall concluding
paragraph to support these judgements, but it is not required.

The question also has 4 marks allocated for the assessment of spelling, punctuation,
grammar and use of specialist terminology (SPaG). Candidates were not awarded any of
these marks if they did not answer the question or if their response was not awarded any of
the marks for the 8-mark part. It was pleasing to see a wide range of specialist terms being
used by some candidates and these, combined with accurate spelling and punctuation,
allowed many candidates to achieve 3 or 4 marks on this element.
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This response was awarded seven marks – Level 2 – 4 marks for the
content and 3 marks for SPaG.

The response is structured using paragraphs and is focused on the
question. The candidate has included two factors (climate and levels of
protection) and there is some description and explanation of both.
However, the depth of explanation and use of supporting evidence is
quite limited. The candidate has made some basic statements about
the importance of the different reasons, but these are not qualified in
terms of the relative importance of the reasons. In terms of the SPAG,
the spelling and punctuation are largely accurate and some specialist
terms have been used.
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This response was awarded the full twelve marks – Level 3 – 8 marks
for the content and 4 marks for SPaG.

The response is clearly structured using paragraphs and is focused on
the question. Although the candidate largely focuses on climate, other
reasons have been given (eg the age of the ecosystem). There is good
supporting evidence and a good range of key terms is included.
Judgements about the relative importance of the reasons have also
been included.

Use paragraphs to help you structure your response in the 8-mark
questions.
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Paper Summary

Based on their performance on this paper, candidates are offered the following advice:

Ensure that you are familiar with the command words used in the specification. For
example, the difference between what is expected for 'assess' and 'evaluate'. Candidates
should be reminded that 'assess' questions require evidence to determine the relative
importance of the reasons/ factors under consideration in the question – while they do
not require an overall concluding paragraph, candidates do need to make judgements
about the relative importance of the reasons/ factors through their response. In the case
of the 'evaluate' questions, while judgements can be made through the answer, there is
also a requirement that candidates provide a substantiated judgement/conclusion which
would normally be found at the end of the response.
In the 8-mark 'examine' questions in Section A, candidates must use evidence from the
resources in their answers rather than simply repeating what they have learnt and revised.
The information extracted from the resources should be used to support their answers.
In questions where there is reference to a resource, it is important that evidence from the
resource is used to answer the question as these are targeting AO3 (application of
knowledge and understanding). This is flagged up in the questions where this is required.
Developed points are needed on 3 – or 4-mark 'explain' questions. These types of
questions require an initial point to be made in response to the question which should
then be developed through the 'chain of explanation'. Only the most well-developed point
and its links will be credited, so if a candidate makes several points, each of which are not
developed, this may limit the mark they are awarded.
It is important that centres incorporate the 'integrated skills' into their delivery.
There will always be a few questions that require candidates to perform a calculation
(AO4). It is essential that candidates have a calculator with them. It is also important to
read the question carefully. For example, if the question states that they give the answer
to one decimal place, it is important that they do so.
Centres should spend time reviewing the specimen and live papers to ensure that they are
familiar with the key vocabulary which is being used in the questions – both in terms of
key geographical terms (eg 'biodiversity') and words which provide the 'slant' to the
question (eg 'characteristics', 'distribution' or 'vulnerable'). This will also ensure that
candidates are familiar with the structure of the paper and will hopefully avoid situations
where the rubric has not been followed.
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Grade boundaries

Grade boundaries for this, and all other papers, can be found on the website on this link:

https://qualifications.pearson.com/en/support/support-topics/results-certification/grade-
boundaries.html
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